11/26/2012 : 29-unif conv_done

§ < 4y

J = Ae 1~ dus ~a¢ dx

-
Pn (1= el
£Q ﬂ.,-tm )

M r;-.:{ﬂ [;f:rf-

F)=+*
-F'L.,{) = 27 dy

=3 S.,u;aski\ = x’-cmﬁ(t)
___.—--'""'

FRSFENEY
3 [i}"’-""fasiﬂ

Pane

12

- 7 fxcssldde = Kiestel

= 95(_:}5(‘)\(&5{ ~xt Qng"ur)
Cld:=K 3'(:’3 < Cos() dr
£ 0= dx 3(1;‘): g‘m(@ |
I I RE R PR OL
?(1 (.' CnSC"“*Q X Sin (,r) ¥ Ccaﬁ{u)-)-c

> Qs Sin (sb-—(ﬁ—-?}éas(;c}*c |

__._._._-—-"'-—.__

Bert

Page 1 of 4



11/26/2012 : 29-unif conv_done

Panel 3

ety
n= Sl dv=eXay
dms COSDN) v s g%

XN () Je*cosx) dx

= (05 LX) d= ¢ dx
g‘u: -sn0dX - pX

= ef ) =[e*cos(n)+ SeXsinbadx]
S sm O ax = ¢*sin (x)- g*cos(x)Je sy

1 F ,
2 (elsmbndx= e (s n(x)-cos(x))
€'I
= 5 (s1n(9-cosx)) »

‘LML ALY . %Mb Lﬁww,
'pu. — ¥ p’a&vl'tm / ___J
@wﬂ-&mr s

Cocowd, Cad o Lud cad (" o0
S N S A
RTINS S T V) 2 S NS T /4,8 7703
Godifle, {08, edill¥e £ doton. Liliy

(, b, 0, {:h)tua lin {1 # f1d

(s Wt u-ntfre-1) 0

Bert

Page 2 of 4



11/26/2012 : 29-unif _conv_done Bert

Panel 5
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Panel 6

Pointwise Convergence Uniferm Convergence

For pointwise convergence we first fix a value xg. Then  For uniform convergence we draw an £-nelghborhood

we choose an arbitrary neighborhood around fixg), around the entire timit function f, which reselts in an "2-
which correspands to a vertical interval centered at strip’ ith fix) in the midde,

fxgl.
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Move we pick N so that f-fx) is completely inside that strij

: ; for all x i the domain.
Finally we pick N 5o that falxgl intersects the vertical
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